prepp

Practice, Learn and Achieve
Your Goal with Prepp

TNPSC Exam

Group 2 Prelims Previous Paper

Simplifying
Government Exams

@ ssccHst | £ 1asexam | (D) RRENTPC | GO NTSE | £ cDs
& cBsEuGC NET | (i7 1BPS PO | 7 NDA
€ ssiro | (17 1BPs CLERK | <&y AFcaT | @ ®) CTET
@ CSIRUGC NET | & cAPF | (i7 1BPS RRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

101. What is the basic concept of Raman effect?
(A) reflection

(B) incoherent scattering

M coherent scattering

(D) refraction

pmoe edemeTey eThS SESICUSMS Dilg LILIDL WITES QamerTLg)?
A)  Grdueiiy

®) gbdoor gaiifsps

©) pb5paledspd

D) ool s

102. The Epsom salt which is used as laxative is

V‘( MgSO, - 7H,0

CaSO, - 2H,0
(©) ZnSO,-7H,0

(D) CuSO,-5H,0

e @erdSlwimg LWeTLIL Sdalqll 6TLISD 2 LIl 6T8)?
(A) MgSO,-7H,0
®) CaSO,-2H,0
(C) ZnSO,-7TH,0O

(D) - CuSO,-5H,0
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103. I\Vhich one of the following is the correct composition of Brass?
(A) Cu-50%;Sn-50%
MCu—GO% ; Zn — 40%
(C) Zn-70%;Sn-30%

(D) Fe-—40% ; Ni—60%

Epssa_cunme NFgemarufer sflurear 2 Caonssswameuuien s56i510 ererer?
(A) Cu-50%;Sn-50%
B) Cu-60%;Zn-40%
(C) Zn-70%;Sn-30%

(D) Fe—40% ; Ni— 60%

104. What is phototropism?

(A) movement of plants towards chemicals

\ﬁ/ movement of plants towards light

(C) movement of plants towards soil

(D) response of plants for day length

Gum_GLrm_grii9enid eramme 6remnes?

(A) Qagsaflen Gaud Qumrmer Crréfw @uissD
(B) Qsyscfiar gefl Gpradlu Quésid

(C) Q&u;asmﬂeh weir Crrsdu Guissid

(D) GQeysafier gafl sragg eflaner

- | CCS2T
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105. Match the foIloWing :

(a) Ranthambore ' ' 1. Assam

(b) Manas 2. Jharkhand :
(¢) Nagarjuna sagar 3. Andhra

(d) Palamala 4. Rajasthan

(e) Indrayathi 5. Ch_attisgarh

(@ (b () (d) (e)

\}(4 1 3 2 5

®B) 4 2 1 3 5

) 1 4 3 5 2

® 3 1 4 2 5
QuTpSEIs.

(a) pemgmbLyT 1.  omb

(b) mrrea%rr@ 2. grise
() praTTYven FIGT 3. ymdrm

| (d) urewe 4.  Qursevsen
(e) @ndrraud 5. - ssSevai

(a) (b) (©) (d) (e)

(A 4 1 3 2 5.
B) 4 TR | 3 5
© 1 4 3 5 2
D) 3 i »d 2 &
CCS2T 30

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



106. Match:

Tribe Region
(a) Masai 1. Angola
(b) Saami 2. Kenya
(¢) Kalinga 3.  Philippines
(d) Bush men 4.  Siberia

(a) (b) (© (d)

vg/z 4 3 1

®B) 2 1 3 4
<o 1 2 3 4
D) 4 3 2 1
Qun(msgHs
LILpMI & lq.uSl e QrCse
(a) wemlu 1. ouGasrer
(b) smd 2. Qsernwum
(c) sdmuar 3.  Wellienueien
(d) ysrwellgrsar 4. emsSAwnr

() (b) (c) (d)

A 2 4 3 1
B) 2 1 3 4
© 1 2 3 4
D) 4 3 2 1
= 31 CCS2T
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107. Humboldt ocean current is otherwise known as
(A) Kuroshio current

(B) Opyashio current

\)/ Peru current

(D) Florida current

anbGuré FCrm b Geaiaumpraead Hflwiiu@eamg

@A) @Crmreflwr FCrm L ib |

B @urefiCurSGrm L /
©) Glu@ BCymL1b

D) yCermAm FCym L b

108. ‘Sea Smoke’ is common in
(A) Equatorial region
(B) Desert region

Atlantic ocean

W Arctic region

‘SL6 L& STHTIIONS STaiiL@eug)
A) ywsdw Grens LS

®)  uneeae drCssib

©C) < eoramgs Curmgf

D) =igsuEd
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109. Who started Home Rule Movement in India?

\/ Annie Besant

Sathiya moorthi
(C) E.V. Ramasamy

(D) K. Kamaraj

@ndwuneile) genenm_ & QuisES®S 2, TDISSeUT WTT?
@) sdeiGusen

B)  spduepisd

(C) el QuAwr

D) @.smwoyreT

110. Tamil Books were printed firstly by whom?

W Rev. Zieganbalg

(B) . Rev. Schwartz

(C) Rev. Grundler

(D) Robert De Nobili

WP (PHONS SO LSSEmIEMET DFSI_Leuir wmri?
Q)  Sseunag Buit

B)  seunrtlav urdHRwmd

©) Eme_e gui

M) gruil g Apm9ed

= ‘ 33 CCS2T
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111.  Who converted Mahendra Varma I from Jainism to Saivism?

(A) Sambandar m;)par

(C) Sundarar (D) Perundevar

waemd wCshilreutwamean agear wasEllmbe ense HSSDE WTHHweUT wTT?
(A)  abupsT B)  eum

(C)  amgym D)  QumpCgeurr

112. Name the chieftain who patronised Kabilar
(A) Ay

(B)  Adhiyan

\/ Pari

(D) Anj

sy sfse Curhilu Abmrer Quwens MG S.

@) ey

B)  Hwen

©) urf

D) =iEd p
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114.

]

113. The Portuguese Sailor who reached Calicut in 1498 A.D. was?

]

(A) De Almeida

MVasco da Gama

(C)  Robert Clive

(D) Albuquerque

1498-1b e[ serafl&Cariememw b CuriggsEw wreus wrm?
A) g-@GwwLr

(B) | aumevGaETLsmom

(C) grufl Heneréu

D) eoysrs

On behalf of the Justice Party, who won and formed the ministry in 1923 election?

W T.N. Sivagnanam Pillai

(B)  P. Thiyagaraja Chettiyar
(C)  T.M. Nair

(D) M.C. Raja

1923-1b oy ® e QAupp Caisald Bhss & sniLns Qauph QUDD <! e SIS W2
(A) T.N. fleugprend Gerenar

B) P. Sunsyreg Qe g

© TM. prwi

D) M.C. grgr

35 - - CCS2T
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115. Where was the first Indian National Congress met?

(A) Delhi \M Bombay

\

(C) Calcutta ' (D) Madras

s @b Casflw ariidlyeiien sal L LD 6THIE Soig WIg?
(A) QrLeed - : (B) uwbumd

©) sosssT - (D) @g@mm'

116. The Forward Block Party was started by whom?

% SubhaSh Chandra Bose

(B) Motilal Nehru
(C)  Rajaji

(D) Raja Ram Mohan Roy

LU r'r@ Gemmé &8 wrymed QgmmisuuLg?
(A)  suney &ﬁﬁgr@ulrrah)
@B - errg‘,l_a)rreil) Gm(m
© U@n@ |

D)  grgr pmbd Cuomser pmi
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117. The institution of Lok-Ayukta was established first in the state of

(A)  Gujarat M’Iaharashtra

(C) Rajasthan (D) Kerala

Cors-uast pser psedle eThg wrblassle ®wssUIULLg?
A) ©Ggs B) LOSTFTEGL T

(C) grgevgmen (D) Csyerm

118. Who said “The Directive Principle of State Policy is a Novel feature” of the Indian

constitution?

(C) Aladi Krishnaswamy Ayyar

(D) B.N. Rao

@pdwu srflueewided “ors awdsr @ Apdopons Cardaas @i o aragwrer LT 6Term .

Fn LG wmm?

@A) KT aer

(B) B.R. @uwCusgsi

©) oy Amagewremnd Swi

(D) B.N. greu

- | 87 CcCs2T
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119. The idea of concurrent list was borrowed from
(A)  British Constitution
(B) Canadian Constitution

Irlsh Constitution

\){ Australian Constitution

Curgiutigwe Gr@lLb;@‘éng QuplulLg.
A @rdorpder &U@mmm@uﬂeﬁ]@ﬁug}
B) semeilen -:")lﬂﬁueusmmu R ENRIGES

©€)  swierpder ordlumeoliedmbs)

D)  yedNCGoowmellen rdlweeanoliSelmbg

120. In which year the Parliament enacted the Official Language Act?

(A) 1955
(B) 1965
,/ 1963
(D) 1957

eTHS GU(BL_LD UMFEHLETDSHa Siaeud Gwmf sl b Qunniul Lg?

(A) 1955
(B) 1965
(C) 1963
(D) 1957

CCS2T | 38
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121. The members of the Central Administrative Tribunal are given status of Judges of High

Court from an Amendment in the year :

(A) 2003
(B) 2004
(C) 2005 ;

M 2006

waHHw Sriumu i@ﬁ@mﬁ&@é@ e wibflwerm FHusarar Dpsavg upmsiulL L HHSsD

Cm@smereriiLil_L oy,am[H

(A) 2003
(B) 2004
(C) 2005
(D) 2006

122. What is the aim of Pradhan Mantri Gram-Sadak Yojana?

WProvide all Weather road connectivity

(B)  Provide all Weather to Tele communication connectivity
(C)  Provide Food Security in all seasons

(D)  Provide Education to all people

“QrsL wiHdh aﬂﬁrrm sLmé Curgant Sl gdlen Crrasd (@HsCandr) arg)?

(A) i@arauBEED S@adE Uheu STOREER&EEGD FTae cusSleameT g5
(B) Qsrenaev@sriry cusdlaemen Dimards L[Heu-Sromi&Eh&EEGD THL HeMDS5Q
(C) mass umau-sromsalgib 2 ara) LTg&TIL Qs

(D) eaCanmésw sael eusd gpun® Qelige

= 39 _ _ CCS2T
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123. When was the “Industrial Finance Corporation of India” established in India?

(A) January 1, 1950

MJuly 1, 1948

(C) June 5, 1951

(D) May 1, 1950

“@iHw Asmféd AHsswsn” @bdwureld arulurus THURSSILLLE?
(A)  sareufl 1, 1950

(B) gYmel, 1948

(C) gren5, 1951

D) Gwl, 1950

124. Which is the biggest nationalised enterprise?
(A) Bharat Sanchar Nigam Limited
(B) Indian Post Department

/ Indian Railways

(D)  Oil and Natural Gas Commission

Bau@uilu Qurgsgieon Hlnpeuard erg?
(A)  Q.erev.erem.erer (BSNL)

B)  @bIw s Hon

(®) Qpdw ruileoGeu g

(D)  eaam@enrus erfleumy Hmeued
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125.

126.

Identify the mismatch :

(A)  White revolution - Milk

(B) Green revolution - Food grains
(C)  Blue revolution - Fish .

M ellow revolution - Flowers

seuprer QUTHESSMSE HaT(HIL SHa|D.

(A) Gla.ls&mml:o yrLé - LImed

B) usew yyLé - 2 a6y Sestlwitd
C) Beoygd - Ser

D)  wepger YA - y&seT

National Agricultural policy aims at a growth rate of

@) 3% T 1%

© 6% : D) 8%

Csélu Ceueatmeisr Qamatenswnens) AaTHEE

Qarerr(Hereng).
A 3% - , (B) 4%
(C) 6% (D) 8%

41

% per year.

ggais aamédleow Cpréswons

CCSa2T
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127.  In how many years will a sum of ¥ 1,600 amount to ¥ 1,852.20 at 5% per annum compound

interest?
3 B) 4 _
(C) 5 D) 6

- T1,600 ez 5% @@ sal (B el g s AsTRT® cTEs@ar y@TREeaid T 1,852.20 danl s@ib?
A4 3 - B) 4
€ 5 D) 6

128. Simplify :

w 2%
vt -t
© 5%%
D) -2%
smhee:
PIEREs
(A) 2%
(B) '-5%
© 5‘;—;
D) —2%
CCS2T | o, AR | K -
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129. Find the area of the iron sheet required to prepare a cone 24 cm high with base radius 7 cm

VW/ 704 cm? (B) 702 cm?

(C) 700 cm? _ (D) 668 cm?

24 Qe.8. 2 WD SigUsSs T 7 Qs.5. AererL sby gwrilés Comeuwrear QmbdY S ig.em LFUY

ST &H
(A) 704 Q.52 (B) 702 Qg.62
©) 700 Q&..52 (D) 668 Q&.152

130. The sum of the series 31+33+....+53 is

(A) 729
B) 341
V/ 504
(D) 604

31+33+....+ 53 eremm Agm_flen sa(Hsev crevran?

(A) 729
(B) 341
(C) 504
(D) 604
= 43 | CCS2T
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181 Find the G.C.D. of a® -1 and a*-1

(A) a?-1
B) a+1
@& - gr=1

a) a*-1
B) a+l
© da*-1,
D) a-1

132. What percent is 5 grams of 1 Kg?

A) 5% B 1%

\/0.5% D) 0.2%

1 HGeor HymBie 5 SHymd % eranen?

@A) 5% B 1%
(C) 05% (D) 02%
CCSaT 44
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133.

134.

LI

2 4
The value of 3 x1p is

316
2
A =
(4) 3
16
81
92x18% . .
;1_6 — & iy
2
A =
(A) 3
16
C it
© 81

The cube root of 0.027 1s

(A) 3
(B) 0.003
(C) 0.03

(0.027) e &ew epevid

) 3
(B) 0.003
(C) 0.03
D) 0.3
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Vacancies and updates on one click

45

(B)

(D)

(B)

(D)

© | =

82
243

© |

32
243

CcCsaT
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a+b b+c c+a

135. If =k, Then the value of & is

c a b
(A) 0
B 1
Vo
(D) a+b+c

a+b _b+c c+a

=k aaflé k ér iy

c a b
A o0
@B 1
o 2
D) a+b+c

136. The ratio of boys to girls in a class is 4:5. If the number of boys is 20, then the number of
girls is

(A) 15 B) 20

V/ 25 ' ®) 26

@0 Ll wremeaisdr, wrateluisds dsnd 4:5. wremaisaier aaramfléms 20 aafld

wrewredwfen cramanilGens

A 15 - (B) 20
©) 25 D) 26
CCS2T 46 =
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137. Given the pie chart. Obtain the pass percentage of student who passed in 1%t class.

Passed in First Class
Passed in Second Class

\ Failed
Passed in hird Class

A  35% B) 30%

©) 10% ' | V(!!( 25%

@bs craflau’ L eflerés uLSHSBHE wrawTeuisear s @iy Csireédl Qubmeuiseng eflwsaT®H

GTEUTEnT?

' & a6 Cairsd
@ramLmb eu@Ue Caiéd s uGu 5
Cséé Quprgeurser
g_l,DéBTg)rrLb L0 Cgrgs
C) 10% D) 25%
: 4 CCSsaT

[Turn over
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138. India’s first bio-fuel flight was operated between

% Dehradun to Delhi

B)
©)

()

Dehradun to Mumbai
Dehradun to Kolkatta

Dehradun to Chennai

@pdwreler apge 2 udlfl — erfl@ummer eflirard @eueilm y)aqrésa;@é;élemLCm QussiiulLg

A
B)
(©)

D)

Cpr@er — QLecedl
CLgm@esr — apbenl
CLygr@er — QardassT

CLpr@er — Qeeene

139. In which of the following states, more number of people were affected by 2018 monsoon?

M Kerala

B)
(©)

[

Assam
Andhra Pradesh

Megalaya

&1 2 ¢rem eribomBlegSler 2018 Limeu wenpulanme 2iHls waser urHUGDGaTarTSenTT?

@

®)
©
D)

CCSa2T

Gaperd -
D FTLD

<2pdT GrGead

Cusmeowim
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140. -The crop which gets affected by pink ball worm is

(A) Banana
(B) Wheat
(C) Mango

MCotton

QerepéleuiL Libg Lpeured UrFssu@n uudi

@A) amoy
(B) Skngienis
© wr

D)  um@sd

141. World’s first Block chain Bond was launched by

Reserve Bank of India

Vga( World Bank

(C) Hong Kong Bank .

(D)  State Bank of India

2 eélem B Block chain ug,,é,]ug_,mg a@@auu@gﬁm cumbié

A @pdu Aereu cudl -

B) 2wz
(®)) QDTTRIG TS GumIdl
D) E@6HweavCLL aurd

49 | CCS2T
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142. Which among the following industries generates invisible exports?

.(A) Fishing

: \/ Tourism

(C) Jewellery

(D) Handicrafts

lﬁlﬁiﬁ@@ﬁnmmmgm yeouuLrg gpmiwdew CornmelliiLig,
A)  Benlg Asmfle -

B)  sppergop

©)  <ugeawr Agmple

D) wseamants QurpL_sar

143.  Which of the following agricultural commodity of India gives largest interms of export value?

(A) Tea
% Basmathi Rice

(C) Spices

(D) Cotton

Qebreu(mLd srdiGauemrahments 2 HusH QbHwreilen i fswrer Hmiwd wHliemu g,@é'!shg)@?
(A) Cauflene |

B) wrevwd =M

©  power eplgser

D)  umsd -

CCS2T | , o s
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144. Which of the following programme aims at the promotion of savings among rural women?
(A)  Jawahar Rozgar ijana
(B) Pradhanmantri Mahila Yojana

Rashtriya Mahila Kosh

WMahlla Samridhi

QeraumeuaneupmiaT araSHLL1b Symoliym waaflfler Callumu cad@elluugHaTs S@waEslLLLg?
A)  meuant Crresi Cuirgearm

B) dgsremwopAHf wdlerr CurgerT

(C) graglffw wéenr Camey

D)  wherr s

145. Which of the following policy brings 5 lakh acres under organic farming?

(A) Shyama Prasad Mukherji Rurban Mission

M Pramaparagat Krishi Vikas Yojana

(C) Pradhan Mantri Krishi Sichai Yojana

(D) PM Fasal Bima Yojana

& 2 een r&QaTETNS 5 @b gasT Homsmer Qunens Ceueatmasrenoulien S Qamem (B cumeug)?
A) -m'q,Lunmrr Lpans (p&ired @r‘fueisr g

B) uwrbwrurss sfad lsrev Cuirgert

(©)  dpsrenopst sfafl agsdevmis Gu_lrrésmrr

(D)  Q.erb. umge Swr CurgenT

= 5% CCS2T
[Turn over
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146. According to 2018 — 19 budget report, India is at third rank in -

M Purchasing Power Parity (PPP)

(B)
©)
D)

Gross Domestic Product (GDP)
Agricultural Production

Foreign Direct Investment (IFDI)

2018 - 19 ffiflena iflsamsiiig Gereumd ereupmieT @bHwr epermmslLSHd 2 cremg)?

(A)
B
©)
(D)

curBIGLD Fmer soflene
Qurgs 2 amBr_( 2-Huss
Ceuenmetr 2_HuGH

B Corg wpsad@

147. Which currency is recently added in the currency basket of IMF?

A)

(©)
D)

Japanese Yen
Chinese Yuan
Indian Rupee

Brazalian Dollar

BB ® prewnub sbusde IMF-ar prawmws s ulle CarssiiulLg)?

A)
(B)
(©)

D)

- CCS2T

suiurefler Quienr
engaTellen ujeumen

@BSw epLmi
9GSl werr Lreorfr

. 52
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148.

149.

1 Femto is equal to ————  m.

@ 107 | \m/m-“

(© 10° (D) 10°
1 QuibGLrr (Femto) = ————— (5L

@A) 107 : ®) 10
@y I (D) 10°

What is the value of gravitational field at the centre of the sphere?

; My
_ M zZero (B) =

150, .

GM
r

(©) D) -GM/r?

- Gararls yerefl enowigHer yeluiiiiy yeosdler iy wirg?

@ 9 ®) %
(©) i D) -GM/r*

r

Which of the following is sensitive to ultrasonic waves?

(A) Man \ﬂat

(C) Bird (D) Fish

Caerm gellanws 2_ewT(THD SEEMID WM(HEE 2-6Targ)?
A) - vafllgen (B) Qeuereumed

© upeeu (D) BSen

53
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151. What happens in the reduction process?

(A)  loss of electrons

M gain of electrons -

(C) loss of hydrogen

(D) gain of oxygen

@H&s alenaruded &Qe};a;s&m;euﬁ;@éu erean Hlapdlmg ?
(A)  eesiyrersdr @LiL|
(B). érsu.sisl'_qi'réaa;érr gLy

- (C) anyemen @@uq.

D)  sybedigen gpy

152. Galena is the ore of which of the following metals?

(A) Silver
‘Jgt' Lead
- (C) Gold

(D) TIron

selan erenLg) EpsaaT_cunHiar 2 arer arhs 2 Cansgdlen srglIQUTmHET?

(A)  Qeudref
B) smfwb
(C). SBIGLD
@) @by

CCS2T | 54
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153. In higher plants the sporophytic phase is formed after growth and development of the zygote.

Point out the type of cell division involved in this growth.
x Mitosis

(B) Meiosis

(C) Amitosis

(D) Zygotic meiosis

2 wireuems greugmsaien evCuUTGrraulys Hlow meGamiyear aarmédl WIHDESTL 2 Heurdpg).
ahs euens Qg 9fley @Hé AewouBEng aatums &.l;qéam;@
(A)  ewwl_Lmedlen

(B) WBwmredew
(C) gewlLreadlev

D)  @eCamiiys Bwredev

154. Kuhne's tube can demonstrate the process of

% Fermentation

(B) Germination of seeds
(C)  Growth of plants

(D)  Aerobic respiration

@enev Gmi eThg Hlawenes Hlm9s@wn
A)  Gprdsse

B) s paoarsse

(C)  smeuy cuariad)

D) . STHmELW seurélgge

= 55 CCS2T
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155. A preparation of living (or) killed micro-organism (or) viruses used in prevention of diseases

through immunization is called

(A)  Toxoid \/Vaccine

(C) Viremia (D)  Anti — toxin

2 marer (=) 2-wWpHp memeflu o wWflamsar (21) emeupdvasamer b 2L dlguer Qeausd BLEES
ardliriy s&dlenw 2 (Heuns@eusn(E erene GlLwir?
A) Lrssmi® ' B) s®UY 2xd

©)  Offlum D) eadi-pés

156. The source of energy in any eco system are
(A)  Osmotrophs Autotrophs

(C) Lithotrophs (D) Heterotrophs

GwBleauiweier pnmeler p&dlw DpETHD
(A) =G wearLew B) < CLrwam b

(C) gafl wawr_eid D) QeucGeuny weRTL_eLd

157. The Acid Rain destroys the vegetation, because it contains
(A) Nitrates . (B) Ozone
(C)  Carbon monoxide W( Sulphuric acid

Sl WWaPWNATE Jdarsg Sraursasuw PEGD gamvweamLwsg aalle ifd L

2_gTaTenay
A)  ap Gyl B) ¢Garen
(C)  sniuer Curamrsas( (D)  solwMs e
CCSa2T 56 e
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158. Which of the following statements regarding soil are correct?

i

il Soil is a dynamic natural element
I1. It is composed of both mineral and organic matter
III.  The characteristics of soils depend on parent rock

IV.  All the soils having a well developed soil profile

(A) ~ All are correct

W I, IT and III are correct

(C) I, 1I and IV are correct

(D) I, III and IV are correct

Qéaumib e Ghssrar aursdunseid sflurameusdr creneu?

I. Lo&wT MMILD Fevrentd GamerL @u.m';aws sryestl

II. @oaser grgsser wHMD 2 uliT LDLL@&&rnei) DLHTEDE

II.  @eaisafler uarry 2 meurar urapuilamer AUIMEEs imwang

IV.  Swags o amsseb aaisdlumbs Gnée del( Conppsos @a&@rq@é@m
A) @maggd sAGwW

(B) L II womwb IIT w G &f

(©) L II wpgd IV wl_ G efl

(D) I.’ III wpmw IV v Hw &Ml
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159. Name the place where the River Ganga and Yamuna joins?

\/ Allahabad (B) Hyderabad

© Delhi (D) Agra

SHRIME LMD, Wpenar mib shH&EGED QL sHer QuwiT ereen?
A)  esTUTS (B) MADSTTUINS
(C) Qread D) sor

160. Name the dam constructed across the River Sutlej

(A) Hirakud dam

W( Bakra Nangal dam

(C) Kosidam
(D) Mettur dam

st aoi @dilan GnEts s (e sameamudar QUL arénan?
A)  ablymEl ement

B)  usyT - prRSH 6T

(C) Carél siemewt

D) Cul@renenr

161. In which year Madras Mahajana Sabha was started?
(A) 1881 1882

(C) * 1883 wa 1884

eThg peanr(h Gaenenet wammen senu-CoromelssiiulL g ?

(A) 1881 (B) 1882
©) 1883 (D) 1884
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162. Who was the founder of the Thiruchenkodu Ashram?

(A) E.V. Ramasamy Naicker

(D) C.N. Annadurai

HmEQemGar® SArwsams Hipeslweu wmi?
(A) @.Ceu. gmogmdl prussi
B) gk

©) smpddl

D) A.eren. o@maRTIGIENT

163. Annamalai University was started in the year

(a) 1915
V@‘)/ 1929
(© 1921
(D) 1945

DIETEMTTLOENED LIDSFMOSLRSLD 4 TDEGNESILL L He(H

(A) 1915
(B) 1929
© 1921
(D) 1945
& 59 CCS2T
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164. Where was the first nuclear reactor of Asia established?
(A) = People’s Republic of China
- (B) Japan

(C) Taiwan
vw( India

AW sETLSH D pseTeus) SIG 2 M GTTEIE BlpieuiuL L g)?

(A) wsser Sené; GG WIS

B)  suumer
(©) eseuren
D) @pHwur

165. Who assumed the title “Chittrakara Puli”?
(A) Rajarajal

Narshima I

% Mahendra Varman I

Nand}n Varman

“BgSramyyel” ererm edlmg) QUwIT @ LU L weerT wirr?
(A) - qpsemid FreTTEye

B)  @psembd prélbes

©)  wsomd wCsHET e

D)  ppd euitwoen
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166.

\/ Surat Conference

167.

Which congress conference was attended by Bharatiyar?

(B) Madras Conference

A(C) Bomba& Conference

(D) Lucknow Conference

eTh Sridlyen MHTLige urFunt sebhg GarerrLmiT?
A) GrswiET®H

(B) Qsenenew wormr®H

(©  wbumi wrpr®

D) @&Carr wrBETE

Who extended co-operation to PuliTevar?
(A) The French
(B) The English

(C) The Portuguese

\/{ The Dutch

s b asprarDsrisa e ik
(A) | Qg EpasTrTHeT -

B) udCowiser

(®)] Gurrfré&&&iu_; e e

D) Lésssrynser
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168. Which Act provided Provincial Autonomy to India?
(A)  Rowlatt Act — 1919 '

-(B) Minto- Morley Reform Act — 1909

\ﬂ’ The Government of India Act — 1935

D) 'Montagu—Chelmsford Reform Act — 1919

eTHS FU_LLD @5@una§lﬁ)@ rfle swm’ 8 farrsams eupridluig?
(A)  Qrereol_ & L ib—1919

B)  enGLT- e & mis sLtb — 1909

) - B e 5L —1935

D)  wreanrCLg-Qsben Curi(h §dlmsss s b — 1919

169. Whom of the following was the Chief Organiser of the Revolt of 1857 in Bihar?
(A) Amar Sir;gh
V/ Kunwar Singh
(C) Pir Ali

(D) Imaduddin

1857-1b e sessfen Curg Spssam puiseiler Ssmit yrldller gordmearriureTyms
QmBEeuT wmi?
(A owrém

B) semeurt A

©) G
D) Quwse Fer

CCS2T 2. e | 4
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170. Which one of the following Parliamentary Committee is Semi-Judicial in nature?
(A) Committee on Petitions

(B) Ethics Committee

\y/ Committee on Privileges

(D) - Rules Committee

Ep&asaL LTTTEsLEaNE Gesais ahs @ Gw urd fHufiuraear gareamwwemwg?
(A)  eflawmemTuus @

B)  <ntpds 5w

(©€) Apuyfews G

D)  HPsew

171. The Constituent Assembly of India was set up according to the proi}osals of

(A) The Cripps Mission

y The Cabinet Mission Plan

(C) The Mountbatten Plan

(D) The Nehru Plan

@psw srdlueenwiiy Hiifewru semu wrmeLw apen@wmfledier Sigliuem ule ghu@dssinL gi?
(A)  Hfuev WBlager |

(B) Cslen’ Wager S b

© mms&lm'_ GuiiLer Sl Lib

D) CrHrwo
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172. Which one is not part of the Panchayat Raj?
(A) Smiti

(B) Village

% Township

(D) Zila Parishad

TS @ENH LIEHEMUS TTRLISSD @Gi)mei)'?-

@) 08
(B) dymowb
© pmﬁmm

D) Heoorufsrs

173. Which part of the Indian Consf.;itutior_x deals with Fundamental Duties?

(A) Partll
~(B) PartIII
\/ Part IV A

(D) PartV

@nHw sirfuamnlids DG LIS SLeos6T aThg UGl r(HsgiengasiiLil Hararg)?
@) s I |

B) ursi I

(C) wumsb IVA

D) urebV
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174. Metro Rail Service is available in

I. Chennai

II. Coimbatore

III. Trichy
IV. Madurai
% I only
(B) IandIV
(C) IandII

(D) IIandIII

QuL Gy guile Caaneu cusd) o_girem @LLb.
I. Qeenenen

II Csrwbysgmr

III. SHmsd
IV. wgenry
A)  Twl@pw

®B) 1 wpmn IV
(©) Iwdmb Il
D) I womw III

= : 65 CCS2T
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175. As per 2011 census the total urban population in the state of Tamil Nadu is

(A)  27.48 million

W 34.95 million

(C) 36.04 million

(D)  42.50 million

2011 waser Agrens sansCasBUdamulg. SUOPHTL 1M F&TUD WEEET QsTans
(A)  27.48 Slevedlwien
(B) 34.95 HeveSlwser
(C) 36.04 Bevadwerr

(D) 42.50 Boedluen

176. Which district of Tamil Nadu produces the highest output of food grains?
(A) Villupuram

(B)  Cuddalore

\/ Thanjavur

(D) Nagapattinam

SODBT 196 eTHS Wwreul LGl 2 ey sraflwumser odswrs 2 pusHundpg?

(A)  eflpuyrd
B)  sLgnm
(C)  seEpeTayT

(D) presulgend
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177. At what rate of interest compound interest per annum will ¥ 640 amount to ¥ 774.40 in 2

years

A) 8% B) 9%

M 10% D) 11%

(B Fal_(H eul_iqudled eresran s56igHSHl . 640 eng @ rent(h pmHisaflen o 774.40 y@Ww?
A 8% B) 9%

© 10% | D) 1%

178. A circus tent is cylindrical to a height of 3 m and conical above it. If the base radius is 52.5 m

and slant height of the cone is 53 m, find the area of canvas required to make the tent.

(A) 315 7 m?

VB/ 3097.5 7 m?

(© 27825 7m?

(D) 2997.5 7 m?

(1 FT&HE aixt_rrjmrrsﬂg 3 5 2 wipaperer 2_([5%961Tu516h 15g) gatbl| SemoBsTH CuTeEn euigeusSHaerang.
2iFe 2l LIL&ES 2u7b 52.5 1, smbiGlen smuywird 53 B erafléy, 2idenL_mrb Sieminéas Coameuwmer Slgsmen

sieflfen UTlieUs samEE .
A 315 782

B) 3097.5 7182

(C) 27825 x 82

(D) 2997.5 7182 -

= ; 67 CCSaT
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1 : .
179. Area of a square is 5 hectare. The diagonal of the square is

(A) - . 250 metres

f 100 metres

) . 5042 metres

(D) 50 metres

@ sgITSSer uFliLieTe] % g&ai, aafld sgirsdlen ppenaedli_L b S GLD.
(A) 250 S Lm

(B) 100 S

(C) 5042 B

D) 50 S

180. The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are in the ratio

A) 27:75
| V{ 27: 125
(C) 81:625

D) 729:15625

@@ Cererisafien q;othuqﬁua‘req&d‘r 9 : 25 arerp eNdlgsHler 2 emeng). jeupdlen ser 3iaTeysefle

el

A 27:75
(B) 27:125
(C) 81:625

(D) 729: 15625
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181.

Complete the series 1ZA, 3 YB, 6 XC, 10 WD, ?

(A) 14 VE
(B) 15 UE
(C©) 12VE

MH)VE

1ZA, 3YB, 6 XC, 10 WD, ? arénp cuflengenw Byiys

(A 14 VE
B) 15UE
© 12VE
D) 15VE

182. The product of two numbers.is 1600 and their HCF is 5, the L.C.M. of the number is

w)/ 320

B) 1605
() 1595
(D) 8000

B cramsaian Aumssd Ggrens 1600 wHmb imasalian 18.AuTa. 5 crafld e 15.41.10.

Y GLWD.

(A) 320
(B) 1605
(C) 1595

(D) 8000
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183. A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he

loses 10%. Find his gain or loss percent on the whole
(A) Loss % =90%
B) Gain % =5%

W Loss % = 1%

Loss % = 7%

@m msssysTIRGE @aCauramnud . 594-&@ @meur hmrT. @eieurmy alHmbld
10% @Qerueb whpHd 10% HLL W SjuMmEG FHULL . QAorsss8d SauméEsE gHulL amuid

S0y BLL &5IFD STeRTs
(A) - plL sgeisb = 90%
(B) @erub egeisd = 5%
(©) plLsgeisd = 1%
D) plLsseisn =T%

24y x34x4—
1 1
e 7=
V/ 75 ® 72
2 3
© 63 ) 6=
3°)* x(2?)°
OO Y gt xa
1 1
@ 75 ® 75
2 : $ 3
(©€) 65 (D) _eg
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185. The principal amount triples itself at 8% per annum over a certain time. Find the number of

years.

(A) 20 years

W 25 years

(C) 30 years

(D) 35 years

g;@ GIUALL ssreng 8% aully eissHd assmen yamBaafles pperm WL RSTEGD eTand STewms?
A) 20 eugpLruger
B) 25 eumLrser
(©) 30 eumLrmusar

D) 35 eumLmser

186. What number should be subtracted from each of the numbers 54, 71, 75 and 99 so that the

remainders may be proportional?

(A) 1
B 2
v s
D) 6

54, 71, 75 wHmb 99 aem @aQeaurh aRESLEID THS TaTmaTS SNSHTD DFenm B ‘

s0ellds5H6 BmEEh?

@ 1

B) 2

< 3

D) 6 E

71 CCS2T
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187. Six men working 10 hours a day can do a piece of work in 24 days. In how many days will |

9 men working for 8 hours a day do the same work?

(A) 10 days : (B) 15 days

/ 20 days D) 25 days

6 apanaer e Geuenawenws prblamenmsg 10 wenfl Crrb Coume Qawg), 24 prisefld epgliu.

9 - yanser, prlamamse 8 weanfl Cryw Catema Qaigmed, erdzaman prisafled seuCauameen

WPguur?
(A) 10 priser _ (B) 15 priger
(C) 20 prser (D) 25 priser

188. A can finish a job in 20 d‘ays and B can complete it in 30 days. They work together and finish
the job. If Rs. 600 is paid as wages, then the share of A and B

(A) 240, 360 (B) 300, 300
\/( 360, 240 ' (D) 400, 200

A aarueui gm Caumaaw 20 prisafigibn, B aaueai Cs Caumeanw 30 priseflgib wpigliui. -
Bmeumd Coibg GCoume Gauig), sicuGaumaemu wpigsdg m. 600 & smasa aumeaunursl Qupper
crafler A wpmid B e L@ erenen?

(A) 240, 360 (B) 300, 300

(C) 360, 240 _ (D) 400, 200

189. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value of x.

w/ 25 (B) 24

© 30 (D) 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 @eundlen syrafl 31 erafley x @ e i eremen?

A) 25 B) 24
€ 30 D) 26
ccseT 72 _
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190. Find the difference between simple interest and compound interest for a sum of Rs.8,000 lent

at 10% p.a. in 2 years.

A) - .,Rs.70

/ Rs.80
(© Rs.90
(D) Rs.100

5.8,000-&@ 10% eul' iy cSggder Qram® pam@seier Ll @b al () ulysEh gail aigsEn

o _arer eSFHITISMES HraHTs.

@A) @70
B)  5.80
© .90
(D)  5.100

191. The national fruit which is common for Phillipines, Pakistan and India is

(A) Banana
(B) Fig
\Jﬁ/ Mango
(D) Jack

.&Gﬁlumushmb, urndlevsmer wHmib QbHw priHsafler Curgeurar GCaflw LD

A ey
B) =58
(C) or
D) uer
= L 73 CCS2T
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192. In which city the first Nepal — India “Think Tank summit” was held?
" (A)  New Delhi
(B) Kathmandu

Dehradun

\% Kolkata

apBaErsSer s Crumar — @bdwr “Think Tank wrsr®” L QubdDe)?

@) Usmed
B) srswer®
©) Gugn@en

D) Qaresszm

193. The campaign to create awareness among children to identify sexual abuse is

Safety is in your Hands

W Our safety, Our rights

(C)  Save child, Save future

(D)  Child safety in police hand

unellen Gl mISSN AL WIMETD sTemr GWhengsafien CGu eflifltienrie) UL CopOameareriiu’ L
y&smyib

(A)  ungisTiy 2 e Gﬁl')EUSIG'l)

(B) pwurgsriy, b 2 Maw

©) ©wbms urgETly, Grﬁfr&srren- umgamiLy

D) Gwbos urGETUL STEUDGIMD S
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194. NREGA gives guaranteed employment for
(A) 50 days

M 100 days

© 150 days
(D) 200 days

Casflw oeays Ceuane. eﬁn’uhﬁq S (NREGA), Came 2 gdraursnd afisgn prisefe
‘srsa'mmﬂé;ma; | ‘

(A) 50 prisar

(B) 100 priser

(C) 150 priser

D) 200 pr _sar

195. The concept of Goods and Services Tax (GST) was originated from

\/ Canada

: (B) USA
(C) Britain
(D) Germany

 Qummar wpmid Gaemau aufl (GST) eremig GT‘&)‘EWqu.G-D Camenhluig?
(A serm
B)  <Qwss psdu BrE
C) 9fl e
(D) Qeirwe

= ' 75 o CCS2T
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196. Black revolution is related to
' (A)  Fish production (B) Coal production
Crude oil production (D) Mustard production

&(menw LT @seai e Qam_jenLuig

(A)  BSer2pusd B)  Possil 2pusd
(C) ssameran@anmis 2 HUSH ‘ D) s 2musS
197. Budget 2017 has proposed ————— as the front office for issuing passport in far flung
areas.
(A)  Airport (B) Telegraph office
Post office (D) Railway station

2017 Hffleva Siflsemsuier Asmama g1y uGdsalld s_afl B UPRIGUSHE WPWEMID JIYIIDSLONE

ofleflsstiuL g erg)?
A)  eflwomar Hlevawid (B) spd o@euesid
©) sume Heewb D) yeseuerty. Hlevewitd

198. The facility announced for Senior Citizens in Budget 2017 — 2018 is

w Aadhaar enabled smart card

(B) BHIM App
(C)  Shakti Kendras

(D)  Pension scheme

2017 - 2018 Hffleve Sifléensude apss Glg0ésERs6Ts Sidlellssuu L uss
(A)  <ysmHLeT QMmeRTESILLL GUDNTL. DL

B)  Q.ers.g.arid. Qewed |

(C) #54 evvowimasar

D) euapdu b
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199. Golden Handshake scheme is a_ssociated with

(V)
(B)
©

Establishing joint enterprises
Inviting foreign companies

Private investment in public enterprises

W Voluntary retirement

BHIG MEGRIEGD S @@L er AT T L wig)

(A)
(B)
(©)
()

gal_ () HlmjeuamiiSemeT £ (Heumd@sHea
Ceuafipm_ () Hlmeuamiismen ienLpHHeD
<ira Hneuamisailer gaflwnit wsaH

aflmuiu @uiay

200. Which of the following scheme has the objective to skill 1 crore youth in the next three years?

(A)

Vg
©

D)

Start up, stand.up
PM Kaushal Vikas Yojana
MNREGA

Deen Dayal Upadhyaay Grameen Kaushalya Yojana

Qeneu@pbd ahs S b DS parm samhisaled om Carg @amargsisaflar Hmer Cubum_ ghHars

2 (HeUMGSHILIL L &I?

(A GoLmic. iU, GOLTeHIL. L)

B) 9. Qgergd elamev Cumghert

(C)  enb.cran.yi.@).g).er.

(D) Senswmar 2 unswmi Hymdlen Aaeragews Cuimgpenm
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